Substitution/Elimination 14 br+6y =1
Solve the system by substitution. |2 +3y =1
Solve the system by elimination.
rT+y=>
|3z + 2y =12 5 r+3y=>5

3z + 4y =10
T+ 2y =—

r—2y=4

16.
e —y =2
3r+2y==6 17

n 20 =2y =1
r+y=1 18,

3x+2y—0

T+Y=>5
3r + 3y = 12 20
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22.

rT+y=2>5
9z + 3y =1 923

10z 4 10y = 10

10.

2v 4+ 6y =4
3r+9y =6 95

11.

dr+4y =4
3r+2y =3 %

12.

8r —2y =206
dr — 3y =1 97
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Answers:

. (2,3)

(1,-1)
(2,6)

No solution.
(0,0)

No solution.

(1,2)

8. Infinitely many solutions.
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No solution.
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Infinitely many solutions.
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No solution.

(=1,1)

Infinitely many solutions.

(15 16)

137 13
No solution.
(16,9)

(17 41)

157 45

Infinitely many solutions.
(07__2)

(_171)

52 43
(_2_772_7)



